Need to Know

We put this packet together to help with some basic building questions that may arise during
construction. We strongly advise going through this document before starting on your new building.

Need to Know:

1. Stagger 2x4 girts on posts. Never have a post where all of the 2x4 girts are spliced on the same post.
2. Stagger truss carriers on posts. It is not recommended to have a post where the truss carrier is spliced on
both the inside and outside of the post.

3. Stagger 2x4 roof purlins. Never have a truss where all of the 2x4 roof purlins are spliced on the same
truss.

4. The H1 hurricane tie which fastens the truss to the truss carrier is to go on the inside of the building,
not the outside.

5. If using our Tuff-Posts, see www.tuff-post.com for installation instructions.

6. To view how to install rubber filler strips, see 'Eve Detail' page below. For Gambrel Buildings and
Lean-To's, see 'Gambrel and Transition Detail'.

7. Painted steel roofing and siding can't be stored outside for more than 4 weeks. Plain Steel Roofing and
siding can't be stored outside at all; it can not get rained on while still in the pack.

8. If cutting steel roofing and siding, must turn metal up-side down to cut, otherwise the chards will pit
the metal.

H:\APM Buildings\Customer Correspondence\Pole Buildings\Pole Buildings Need to Know.doc



Overhang Styles

Pole Buildings:




No Overhang Detail

Outside Corner

McElroy Max-Rib 2
Steel Roofing

Rubber Eiller Strip

2x12
Southern

N Yellow
Pine

2x12
Southern
Yellow
See Detail 1-W for Pine
Wall Layer Informa- ~—
tion
] 4.5 x 5.25 APM
Stock Columns 3
Ply




*Addendum 1*

Overhang Detail

*Addendum*

The truss tail will be designed so that the fascia
cover we send will cover the fascia board and the Steel Roofing
purlin above. No drip edge will be needed. Bring
the purlin forward so that it is flush with the fascia
board. Part of the purlin will sit on the fascia board
and part on truss the tail.

Purlin

bedededalateds

.}

$
2
¥,

2

Fascia t.___.._“._l_r__u.__‘.
Cover e :
\ 1 )
' Truss
«| Carrier
N
Truss
Carrier
o Post
See Detail 1-W for ‘
Wall Layer Informa- — > [] | 'R

H:APM/Trusses/Calculations/Overhang



*Addendum 2*

Cross Section Detail

Fascia Board

'*Addendum*

i 1. Nail fascia board onto

i the truss tail so that the

i bottom of fascia board and

' truss tail are flush.

1 2. Temporarily install one

1 piece of F&]J trim (first) on
E truss carrier, flush with

' truss tail, then soffit, fas-

i cia, Steel Siding and Rat

i Guard, to make sure every-
i thing fits properly.

Finished floor location is
measured from bottom of
truss (top of truss carrier)

Top of Treated Skirt ‘ to top the of finished floor.

Bogrd is 2.5” above fin- / This measurement is the

ished floor. height of the building or-
dered.

Start at the Fascia and
work down to install rat
guard, typically siding
will start 1/8” below fin-
ished floor

Finished

Grade

42 in.

H:APM/Trusses/Calculations/Cross Section Detail



Steel Detail Addendum

s ,, 2" Fastener is screwed through

b the ridge cap, through the high
rib of metal panel and into
roof purlin.


polebuildings2
Line
3"


Truss Carrier Connection Details

TRUSS PER PLAN /”
® PosT /

46 Gettysburg St.

Il Arendisville, PA 17303

l' Area B 800-296-6161
www.apmbuildings.com

Spliced or
Continuous

Area A

AreaC~ PUST PER PLAN

\Y, v
,,\7\ ‘s‘\’ SV
'\\b‘ /\\ oV
Y N N

@ @ ) @ @

c C C o C

2 2 4 T 2

e o . (7] b W e w = w

HEREE IR I

— [y} — (1) = 4] = [0) — 1]

Summary 2| 2| 2| 2| 2| 2| 2| 2| 2| £

Outside of Post 12| 4 20| 4 34| 8 36| 22 40| 24

Inside of Post 12| 4 20| 4 34| 8 36| 22 40| 24

Detail

Area A 6| 2 8| 2 3] 4 21 7 2| 10

Area B 6 2 8| 2 3| 4 21 7 2| 10

Area C 4 14 16| 4 18| 2

Area D 4 14 16| 4 18| 2
E - Lenth of truss

carrier block N/A 12" 16" 22" 22"
fastener load per

post in Ibs 4,744 6,536 11,728 19,372 21,296

Nail Fastener - 12 D -3 1/4" Nail - 112 Ib. load/nail
Headlok Fastener - 4 1/2" HeadLok Screw - 258 |b. load/ fastener

A Must use both Nail and Headlok fastener combination, header on inside & outside of post
B. Never have a truss carrier splice on both the inside and outside of the post

C. Hlustration shows outside of post, must do the same for inside of post

D. Fasteners must be spaced 1” apart

H:APM Buildings / Engineering / Fasteners for Header /



Installing Tuff-Posts:
1. Dig hole in accordance to footer size and depth required. This may vary depending on building size, soil type and building code.

2. Use either cast in place concrete or pre-cast concrete cookie for the bottom of the hole, again the amount of concrete or size of
cookie will depend on building size and soil type. Concrete must be cured before post can be planted.

3. Set Post in hole, the (green) treated end should be in the hole. The 2x4 horizontal exterior wall girt should be nailed on to the 4
1/2" width side (the side that shows 3 boards) of a 3ply column. If you are using a 4ply columns then nail your horizontal exterior
wall girt to the 6" width side (the side that shows 4 boards). The 3ply or 4ply side of the column should be facing out towards the
horizontal wall girt to provide maximum strength.

Then back-fill around the post. Great care must be taken during the backfill process to assure the post does not move and is plumb.
Also, a combination of soil and crushed stone is needed for best compaction for a sturdy planting. Brace post once planted and back-
filled.

* For Posts Set in Concrete or Post Sleeves:

If a post is set in concrete, a post sleeve, or post wrap is used, provisions must be made to allow for post shrinkage and to allow water
to escape. Water must not be allowed to be trapped between concrete or post sleeves and Tuff-Post, otherwise the warranty is invalid.

* What The Warranty Does Not Cover:

A. Any damage to Tuff-Post which is not used as structural posts in post frame construction;

B. Any damage to Tuff-Post when not fully shielded from the elements by a roof or sidewalls;

C. Any damage to Tuff-Post caused by insufficient water or urine drainage from the area the posts are permanently planted;
D. Any damage to Tuff-Post caused by cutting the bottom of the post reducing the amount of treatment at the base of the post;
E. Any damage to Tuff-Post caused by any un-treated portion of the post being below ground level;

F. Any damage to Tuff-Post caused by standing manure against the posts for an extended time;

G. When the backfill is not free of voids, organic matter and chunks of clay;

H. The use of soils other than classified as GW, GP, SW, SP, GM, SM, GC, SC, ML, and CL which are characterized by good to
medium drainage characteristics;

1. When adjacent ground surface is not sloped away from the structure at a slope of not less than 5% for a minimum distance of 10
feet measured perpendicular to the face of the outside wall. Provision shall also be made for drainage of accumulated surface water or
urine, including water from roofs, etc; away from the foundation to a natural drainage area or sewer.






CENTER LINE
POST PER PLAN
TYPICAL

8—0" MAX. y 8—0" MAX. .

HEADER OR

45° TO 60° TOP PLATE

12'=0" MAX.

/ WALL GIRTS

Z / <S/@ o
/<.- GRADE
;\. \\
‘A T FOOTING PER

‘‘‘‘‘‘‘‘‘

2x4 BRACE S.P. CONSTRUCTION
GRADE OR S.P.F. #2

(2)-12d EACH GIRT

IYPICAL WALL BRACING DETAIL
SCALE: %"=1-0"

IRC 2000,/2003
MAX. WIND—-110 MPH

CODE:
R301.3—STORY HEIGHT W/INCREASE BRACING 12" MAX.

R602.10.1.1—MAX. WALL LENGTH 50’
TABLE—-R602.10.1 CAT. A & B, ONE STORY, METHOD 1

BRACING PLACEMENT

MIN. 2 BRACES PER WALL
FIRST BRACE 12' MAX, UNLESS SHOWN WITH DOOR. FROM CORNER
SPACE AT MAX. 25" CENTER TO CENTER OF BRACES




(4)-16d NAILS EACH SIDE

-3 T 246 P.T.
POST PER PLAN & e
M .
POST PER PLAN

o, .-.'F>
| .///V/ ' -
IS
S
L

UPLIFT RETENTION BLOCKS
26 P.T. BLOCK 4 SDES
(4)-16d NALS EACH SIDE

FOOTNG PER SCHEDULE

TYPICAL POST FOOTING DETAIL

N.T.S.




36.000" COVERAGE

9.000

ANTI-=SYPHON RIB

}’ 3.125 ”— 2.750 —” 3.125 "

9.000

~ oo

0.125

OVERLAP DETAIL

ENDURA METAL
46 GETTYSBURG ST
ARENDTSVILLE, PA 17303

SIZE
A

TUFF RIB 3 METAL PROFILE
WITH SCREW PATTERN

DATE: JUNE 19, 2014 MIKE TAYLOR

SHEET 1 OF 1




WINDOW & DOOR JAMB DETAIL

1/2" 1

2 1/4"

DOOR AND EDGE CAP (P-DEC)

N
N
5 3/4”

Tl I 1 1/2"

WALK DOOR & WINDOW (P-DWT)

L

7 1/4"
5 1/2"
31/2"

11/2"

L 192

1L 192
e

ANGLE TRIM (P-A)

%Il— 11/2"

GIRT —\

FRAME \

FRAMING FASTENER

DOOR
— DOOR STOP
MAX-RIB/MESA ANGLE TRIM
PANEL
"J" CHANNEL
FRAMING FASTENER @
1.8" 0.C. (MAX,)
FRAMING FASTENER
GIRT
B
‘ FRAME

ANGLE TRIM

L Q
MAX-RIB/MESA ﬁ u N
PANEL N

R

"J" CHANNEL j

DOOR

DOOR STOP

WA McELROY METAL, INC.



OVERHEAD DOOR HEADER DETAIL

MAX-RIEMESA ='A.HE_—\\\

INSIDE CLOBURE

[REC-OMMENDED)
FRAMING FASTENER
[PATTERN #3)

CVERHEAD DODA FLAEHING b

/ HEADER

J Channel —

Angle Trimf

MAX-RIB/MEEA
FAMEL

FRAMING FASTEMER

ANGLE TRIM [F-A}

BEY mcELRoY METAI, INC. 9




BASE TRIM DETAIL

MAX-RIB/MESA

. PANEL —\

INSIDE CLOSURE
(OPTIONAL )

FRAMING
FASTENER
(PATTERN #2)

/-

BASE GIRT

FRAME
COLUMN

r

RODENT
GUARD

MAX-RIB/MESA
\ PANEL
™
T
Ve
T~
Wrﬂ ‘\\
~
FRAMING ~
FASTENER N

INSIDE CLOSURE
(0PTI0MML)

BASE FLASHING

FINISHED
FLOOR

|~ FRAME COLUMN

WYY McELROY METAL, INC.




OUTSIDE CORNER DETAIL

LYY McELROY METAL, INC. 4




INSIDE CORNER DETAIL

F|

/— FRAMING FASTENER

/
FRAMING FASTENER /

/

MAX-RIB/MESA PANEL

RAMING FASTENER @ GIRT INSIDE CORNER TRIM

e

5/8"

INSIDE CORNER
- TRIM

L.‘ " 4 1/8" — P
.

1
N
Y

DE CORNER TRIM (P-IC) ©

/’/<
GIRT

MAX-RIB/MESA PANEL—/

.\.

FASTENER

MAX-RIB/MESA PANEL

»

T GIRT

POST

\,//

INSI

[ McELROY METAL, INC. 5




SLIDING DOOR DETAIL

2 3/8" =i |

DOOR COVER FLASHING
(CANNONBALL) (P-DTC-CB)

TRACK SUPPORT —

TRACK BOARD

TRACK SUPPORT

FLAT HEAD
WOOD FASTENER

DOOR TRACK

TRACK BOARD
FRAMING FASTENER

MAX-RIB/MESA PANEL
/ FRAMING FASTENER

FLAT HEAD
WOOD FASTENER

DOOR COVER FLASHING
DOOR TRACK

Q— FRAMING FASTENER
MAX-RIB/MESA PANEL

ON DOOR

MAX-RIB/MESA
PANEL

~

DOOR COVER
FLASHING

A

L L
,_/—/\M d /[ MAX-RIB/MESA PANEL
ON DOOR

LY McELROY METAL, INC.

16




'HIGHSIDE TIE-IN DETAIL

FRAMING FASTENER —

FRAMING

INSIDE CLOSURE

4n

FRAMING

6”

HIGHSIDE TIE-IN TRIM
(P-SWF)

OUTSIDE CLOSURE W/ TAPE
SEALANT TOP AND BOTTOM

MAX-RIB/MESA PANEL

HIGHSIDE TIE-IN TRIM
INSIDE CLOSURE

OUTSIDE CLOSURE W/ TAPE
SEALANT TOP AND BOTTOM

FASTENER

MAX-RIB/MESA PANEL

FRAMING FASTENER

~1

r /— MAX-RIB/MESA PANEL

FRAMING FASTENER

HIGHSIDE TIE-IN TRIM

FASTENER

MAX-RIB/MESA
PANEL

'Y McELROY METAL, INC.

19




GAMBREL AND TRANSITION DETAIL

MAX-RIB/MESA PANEL

INSIDE CLOSURE W/ TAPE
SEALANT TOP AND BOTTOM

FRAMING FASTENER

FRAMING FASTENER

FASTENER
GAMBREL

OUTSIDE CLOSURE W/ TAPE
SEALANT TOP AND BOTTOM

FRAMING

MAX-RIB/MESA PANEL

SPEC. GAMBREL

INSIDE CLOSURE W/ TAPE
SEALANT TOP AND BOTTOM

FRAMING FASTENER

MAX-RIBMESA TRANSITION TRIM
PANEL

FRAMING FASTENER

A: VARIES WITH PITCH

GAMBREL TRIM (* SPECIFY PITCH) FASTENER

FRAMING
OUTSIDE CLOSURE W/ TAPE
SEALANT TOP AND BOTTOM

MAX-RIB/MESA
PANEL

A: VARIES WITH PITCH (P-SWF)
TRANSITION TRIM (* SPECIFY PITCH)

WYY McELROY METAL, INC. 21



Transition Trim




START HERE

IMPORTANT! READ IMPORTANT SAFETY NOTICES AND REFER TO
INSERT SHEET INSTRUCTIONS TITLED “REMOVING THE OLD DOOR/
PREPARING THE OPENING”. IF THE INSERT SHEET INSTRUCTIONS
ARE NOT INCLUDED, CONTACT WAYNE-DALTON CORP. FOR A FREE
COPY.

If removing an existing door, carefully follow the directions given on the insert
sheet instruction in the portion titled “Removing the Old Door”.

ADWARNING!

REMOVAL OFAN EXISTING DOOR CAN BE DANGEROUS. FOLLOW
INSERT SHEET INSTRUCTIONS CAREFULLY, OTHERWISE SERIOUS
INJURY OR DEATH COULD RESULT.

Begin the installation of the door by checking the opening. It must be the same size
as the door. Vertical jambs must be plumb and the header level. Side clearance,
from edge of door to wall, must be minimum of 3-1/2” (89 mm) on each side.
For proper opening preparation refer to the portion of the insert sheet instructions
titled “Preparing the Opening”.

| FLAGANGLE

\

ALIGN TAB INTO
TOP HOLE IN
TRACK AND TWIST
UP UNTIL PARAL-
LEL WITH TRACK

VERTICAL
TRACK —

O

NOTE: If you have riveted track, skip this step and proceed to step2.
Assemble the Wayne-Dalton Twistlock™, Slidelock™ track system. First, put

the Twistlock tabs on the flagangle into the Twistlock holes on the vertical track.
Give the flagangle 1/4 turn to lock in place.

@

80” HORIZONTAL ANGLE

ALIGN TABS INTO SLOTS,

22172
HORIZONTAL—___ PUSH TOGETHER AND TAP
FORWARD WITH HAMMER
ANGLE i
HORIZONTAL _—~ A TRACK BOLT
TRACK AND NUT

Align the Slidelock™ tabs on the applicable horizontal angle with key slots in
the horizontal track. Push the parts together. Using a hammer, tap the horizontal
angle towards the curved end of the track until the hole in track and angle are
aligned. Extension spring doors require a track bolt and whiz nut placed in the
aligned holes. Set tracks aside.

NOTE: For larger size doors, a full length horizontal angle is already spot welded
to the horizontal track.

COUNTERBALANCE MILFORD SoDERACKEL TOP SECTION
CABLE \ PIN ROLLER -2 ” — RIB
CABLE LOOP / @) 1/4-20
IT SET OF HOLES ON ___ CARRIAGE BOLTS
9900 THERMOWAYNE™ AND NUTS

TT——TOP BRACKET
2N° SET OF HOLES ON

BOTTOM SEC- 9600 THERMOGARD® Il

TION

Uncoil the counterbalance cables and slip the loops at the ends of the cables
over the milford pins on the bottom brackets of the bottom section. Place a
roller in each of the bottom brackets, as well as the end hinges at the top of the
bottom section.

(4) 1/4-20 x 5/8”
TORQUE LIMIT-
ING SCREWS

To install the L-shaped top brackets, align the top holes in the top bracket with
the first set of holes in the endcap for 9900 Thermowayne™ doors, second set
for 9600 Thermogard® doors and third set on all 9200 Foamcore™ doors. Fasten
using (4) 1/4-20 x 5/8” torque limiting screws. Secure the top bracket slide to the
bracket using (2) 1/4-20 carriage bolts and nuts. Insert rollers.

O,

LEFT HAND
BOTTOM
BRACKET

372 SET OF HOLES ON
9200 FOAMCORE™

N\

ROLLER

IMPORTANT! Right and left hand is always determined from inside the
building looking out.

1/4-20 x 5/8” SELF

3” U-BAR
/ ﬂ DRILLING SCREW

FOAMCORE™ II
T~ TOP SECTION

(MODEL 9100)
TOP RIB TOP SECTION

VINYL WEATHER STRIPPING TEM-
PORARILY NAILED TO JAMBS (REFER
TO INSERT SHEET ON PREPARING
THE OPENING.)

9200 Foamcore™ doors over 13’ wide require a 3” U-Bar. Center the U-Bar over
the top rib on the top section and secure it to the section using (6)

1/4-20 x 5/8” self drilling screws. Place top section in the door opening and secure
it temporarily by driving a nail into the header near the center of the door and
bending it over the section. Now flip, hold and fasten the hinges.

(2) 5/16” x 1-5/8” /

BOTTOM ASTRAGAL LAG BOLT \ TOP SECTION
\ @ FLAGANGLE NOTE: CABLE
T~ SHOULD BE BE-
TWEEN TRACK AND
Before installing the bottom section, measure and cut vinyl jamb weather- RDgS-Fé ':-\SND BEHIND

stripping (not included) for entire garage door opening. Temporarily nail the
weather-stripping to the door jambs and header. This will help hold the bottom
door section in place. Space nails approximately 12" apart. Refer to the insert
sheet on preparing the opening.

Position the flagangle 1-11/16” (43 mm) from the edge of the door. Tighten the
first lag bolt then secure flagangle to the jamb with (2) 5/16” x 1-5/8” lag bolts.

Now comes the single most important step in installing the Wayne-Dalton
garage door system. Center the bottom section in the door opening. Level
it using wooden shims under the bottom astragal as needed. Once the bottom
section is level, all the other components will automatically align. Hold the
section in the opening while attaching vertical tracks. Align the bottom of the
vertical tracks with the bottom of the section. If you leveled the bottom section
with shims on one side, then the vertical track on that side must be raised off
the floor an amount that’s equal to the thickness of the shim(s).

IMPORTANT! Ensure that flagangles are parallel with the door sections.

IMPORTANT! The dimension between the flagangles must be exactly door-
width plus 3-3/8” (86 mm) for smooth, safe door operation. Now complete the
vertical track installation on both sides by securing center jamb bracket and
tightening other lag bolts.



IMPORTANT!

REAR SUPPORT ASSEMBLIES MUST

BE SECURELY ATTACHED TO CEILING
FRAMING MEMBERS ADEQUATE TO
HOLD THE WEIGHT OF THE DOOR AND
FULL EXTENSION SPRING PULL.

IMPORTANT!

JAMBS AND HEADER SHOULD BE SECURELY
ATTACHED TO FRAMING MEMBERS. CHECK
BEFORE INSTALLING NEW DOOR.

/

\ / ™ NOTE: %
DOORS WITH OPERATORS,
SEE STEPS 17 AND 18

IMPORTANT!

DOOR OPENING PREPARATION IS CRITICAL FOR PROPER
DOOR INSTALLATION. CHECK THE OPENING TOF, AND
SIDES TO ENSURE IT IS LEVEL AND SQUARE. CORRECT IF
NECESSARY BEFORE INSTALLING NEW DOOR.

IMPORTANT!

IF INSTALLING A REPLACEMENT DOOR, CHECK THE
OPENING SIZE AND NEW DOOR SIZE, MAKING SURE
THEY MATCH BEFORE REMOVING EXISTING DOOR.

NOTE:
SINGLE WIDE DOOR SHOWN IN ILLUSTRATION

NOTE: SIDE LOCK INSTALLA-
TION OPTIONAL

SIDE LOCK
INSTALLATION

INSTALLATION IS ON SECOND
SECTION OF DOOR. SECURE
THE LOCK TO THE SECTION
WITH (4) 1/4-20 X 5/8” SELF
DRILLING SCREWS. SQUARE
\’ NOTE: SECTION AND HOLE IN VERTI- MENDED THAT SIDE LOCKS BE

STEP PLATE CAL TRACK. THE SIDE LOCK  peMOVED IF AN OPERATOR IS

OPTIONAL 1/8” FROM THE SECTION EDGE.




ALIGN IN PROPER
HOLE AND TWIST TO
BACK OF TRACK

VERTICAL TRACK

JAMB
BRACKET

FLAGANGLE

5/16” x 1-5/8” \
LAG BOLT \
COUNTERBALANCE

CABLE

\ ROUND

NOTCH

VERTICAL TRAC

NOTE: If you have riveted track, skip this step and proceed to step 4.

Measure the length of the vertical tracks. Using the table, determine the place-
ment of the jamb brackets for your door height. Align the Twistlock™ wings
on each jamb bracket with the correct butterfly hole in the track and turn the
jamb bracket perpendicular to the track so the mounting flange is toward the

back leg of the track.

BOTTOM JAMB

BRACKET\

5/16” x 1-5/8”
LAG BOLT

CENTER JAMB

/ BRACKET

BOTTOM
SECTION

O,

DOOR HEIGHT T-1 T-2 T-3
60"
64" TRAK BOTTOM | BOTTOM NA
(1626 mm)
65"
69" TRAK MIDDLE | BOTTOM NA
(1753 mm)
66"
70" TRAK MIDDLE | BOTTOM NA
(1778 mm)
68"
72" TRAK BOTTOM | BOTTOM NA
(1829 mm)
700
76" TRAK MIDDLE | BOTTOM NA
(1930 mm)
730
79" TRAK BOTTOM | BOTTOM | BOTTOM
(2007 mm)
76"
82" TRAK MIDDLE | MIDDLE | MIDDLE
(2083 mm)
79"
85" TRAK MIDDLE | MIDDLE | MIDDLE
(2159 mm)
80"
(4 SECTIONS) | MIDDLE | MIDDLE | MIDDLE
(5 SECTIONS) ToP ToP MIDDLE
88" TRAK
(2235 mm)

TL-3

HOLES\

~~TL-2
HOLES

— TLI

HOLES

NOTE: Jamb brackets are stamped for identification.

Position the first vertical track over the rollers of the bottom section. Make sure
the counterbalance cable is located between the rollers and the door jamb. Align
the marks on the vertical track from step 3 with the vertical track line stamp on
the endcap and loosely fasten bottom jamb bracket and flagangle with (1) 5/16”
x 1-5/8” lag bolt each, but do not secure the center jamb bracket yet. Install the
other vertical track the same way. Run the counterbalance cables up between
vertical track and edge of door section. Hang the cables over the tops of the
flagangles in round notch.

IMPORTANT! The tops of the vertical tracks must be level from side to
side.

NOTE:

VERTICAL (3) 1/4-20 x 5/8” SELF

TRACK IDENTIFY LOCK TAPPING TORQUE
SECTION BY THE LIMITING SCREWS
#2 STAMP ON THE
END HINGE

END HINGE #I
ALIGN ON BOTTOM SEC-
epGEoF” \— TioN
SECTIONS

(2) 1/4-20 x 5/8” SELF
TAPPING TORQUE
LIMITING SCREWS

CENTER
HINGE

@

Make sure top leaves of all hinges on the bottom section are folded down. Insert
rollers into the end hinges of the second section, also called the lock section.
With assistance lift section and place rollers over the tops of the vertical tracks.
Install by guiding rollers into the vertical track on both sides and gently lowering
this section onto the bottom section. Keeping the ends of the sections aligned,
install remaining section(s), except top section, in same manner. Fasten all hinges
to connect the sections by flipping up the hinge leaf, holding it firmly against
section and driving in the supplied 1/4-20 x 5/8” torque limiting screws.

NOTE: Two (2) 1/4-20 x 5/8” self tapping torque limiting screws are used
for each end hinge leaf, while three (3) screws are used for each center hinge.
The screw placement is staggered in the end hinges, with the screw nearest the
edge of the door going into the lower hole and the inside screw going into the
upper hole.

IMPORTANT! Once fastener is snug against hinge leaf, tighten an additional
1/4 to 1/2 turn to achieve maximum design holding power.

NOTE: To install lock, see lock instructions included in the lock assembly
bag.

3/8-16 x 3/4”
TRUSS HEAD

BOLT & NUT HORIZONTAL

/ ANGLE

ay

To install horizontal track, place the curved end over the top roller. Align the key
slot in the track with the quick install tabs on the flagangle. With a pivoting motion,
push the curved portion of the horizontal track downward to lock into place, while
raising the rear of the horizontal to align the horizontal angle with the flagangle.
Bolt the horizontal angle to the flagangle using (1)

3/8-16 x 3/4” truss head bolt and nut. Repeat for other side. With track installed
you can adjust the top brackets. Vertically align the top section with the lower sec-
tions. Once aligned, move adjustable slide out to force top roller against horizontal
track. Tighten 1/4-20 nuts to secure slide to top bracket. Repeat for other side.
Remove nail that was temporarily holding top section in place.

~

FLAGANGLE

IMPORTANT! Failure to remove nail before attempting to raise door could
cause permanent damage to top section. DO NOT ATTEMPT TO RAISE DOOR
AT THIS POINT.

PERFORATED ANGLE

__— (NOT SUPPLIED)

~/

IMPORTANT! ANGLE MUST
BE ATTACHED TO FRAMING
MEMBER ADEQUATE TO

5/16” x 2”
LAG BOLTS
(NOT SUPPLIED)

5/16” x 1-1/4” BOLT AND

NUT (NOT SUPPLIED) < _——

SUPPORT DOOR WEIGHT
HORIZONTAL WITH 5/16” x 2” LAG BOLTS.
TRACK

5/16” x 1-1/4”
\ BOLT AND NUT
""’7 (NOT SUPPLIED)

EXTEND BOLT
THROUGH TRACK

With assistance, raise door until the top section and half of the next section are in
a horizontal position. Do not raise door any further since rear of horizontal track
is not yet supported.

WARNING!
RAISING DOOR FURTHER CAN RESULT IN DOOR FALLING AND
CAUSE SEVERE INJURY OR DEATH.

Hold door in position and clamp locking pliers to back leg of the vertical track
just below the second roller on each side. This will prevent door from lowering
while installing the rear support. Using perforated angle, fabricate rear support
for horizontal tracks as shown. Using lag bolts, make sure that support is fastened
into ceiling joist, or adequate framing members to hold the weight of the door.
Keeping the horizontal track parallel to the edge of the door sections, raise the
horizontal track to a level position and bolt it to the rear support structure. Track
must be secured and braced to prevent movement. The bolt should extend into
the track to act as a roller stop. Repeat for other side.

ODWARNING!
KEEP HORIZONTAL TRACK PARALLEL AND WITHIN 3/4” (19 MM)
OF DOOR EDGE, OTHERWISE DOOR COULD FALL, RESULTING IN
SERIOUS INJURY OR DEATH.



FRONT STEEL SHEAVE
WITH STUD
3/8”-16
HEX NUT

HORIZONTAL /

ANGLE

“JAMB SIDE” 5/16” x 1-5/8” LAG BOLT
3-HOLE CLIP FRONT 3” STEEL SHEAVE

REAR SUPPORT
(NOT SUPPLIED)

3/8” - 16 NUT
EXTENSION SPRING

COUNTERBALANCE CABLE
SNUBBER CABLE DEVICE
(SEE WARNING)
SHEAVE FORK

~

“ROOM SIDE”

3-HOLE CLIP
“HORIZONTAL ANGLE”

3-HOLE CLIP

/

12” RADIUS TRACK WITH 3” STEEL
SHEAVE HOLE LOCATION

15” RADIUS TRACK WITH 3” STEEL
SHEAVE, OR 4” STEEL SHEAVE
HOLE LOCATION

REAR 3” STEEL SHEAVE

3/8” - 16 x 1-1/2” BOLT 5/16” - 18 x 3-3/4” EYEBOLT

\ 5/16” - 18 HEX NUT

T~

6” TO 8” ABOVE TRACK

"\ TIE SPECIAL KNOT ON
5/16” - 18 HEX NUT

ALL 3-HOLE CLIPS

Using (1) 3/8” - 16 hex nut, secure the front steel sheave in the appropriate hole.
Repeat for other side.

3 Steel Sheave with 12” radius track - Bolt the sheave to the 13/32” hole in
the top of the flagangle.

3” Steel Sheave with 15” radius track - Bolt the sheave to the first 13/32” hole
in the horizontal angle using (2) washers.

4” Steel Sheave with 12” or 15” radius track - Bolt the sheave to the first 13/32”
hole in the horizontal angle using (1) washer.

Remove the locking pliers from the vertical tracks and with assistance raise the
door slowly into the open position making sure the door travels smoothly through
the track. Clamp locking pliers to the back leg of both horizontal tracks, below
the bottom rollers to keep the door from falling.

EXTENSION SPRNG LENGTH CHART

SPRNG LENGTH PRNG LENGTH
RELAXED EXTENDED
OOOROPEN) ©OORCLOSED)

25"-27" @35 mm -686mm )| 635'-655" (@613 mm -1664mm )
25"-27"@35mm -686mm )| 64"7-66"@626mm -1676 mm )
25"-27"@35mm -686mm )|  677-69"@A702mm -1753mm )
27"-29"@86mm -737mm ) 72"-74"@A829mm -1880mm )
27"-29"@86mm -737mm )| 75"-77"@905mm -1956mm )

A WARNING

LOCKING PLIERS ARE REQUIRED TO KEEP DOOR FROM FALLING. DO NOT ATTEMPT TO WALK THROUGH DOOR OPENING OR AL-
LOW OTHERS TO WALK OR PLAY IN THE DOOR OPENING WHILE DOOR IS IN THE OPEN POSITION.
Position the (1) 5/16” - 18 x 3-3/4” eyebolt and (1) 5/16” - 18 hex nut in the rear support, 6” to 8” above the horizontal track. Feed the snubber cable through the rear
support and tie the special knot around the “room side” 3 hole clip as shown. Secure the eyebolt and clip to the rear support with (1) 5/16” - 18 hex nut. Hook one
end of the extension spring onto the eyebolt. Feed the snubber cable through end spring loop and the center of the extension spring, then front spring loop. Pull the
snubber cable taut and tie the special knot around the “jamb side” 3 hole clip. Attach the “jamb side” 3 hole clip to the jamb near the flagangle with (1)
5/16” x 1-5/8” lag bolt.

NOTE: Adjust snubber cables to be taut.

ADWARNING

FAILURE TO INSTALL SNUBBER CABLES CAN RESULT IN SEVERE INJURY OR DEATH, IN CASE SPRING BREAKS.

Hook the sheave fork through the front loop of the extension spring and attach the sheave fork to the rear 3” steel sheave using (1) 3/8” -16 x 1-1/4” bolt and nut.
Thread the counterbalance cable over the front sheave, around the rear sheave and tie the special knot around the “horizontal angle” 3 hole clip. Insert one end of the
large “S” hook in the “horizontal angle” 3 hole clip and the other end in the second slot of the horizontal angle. Close “S” hook and eye bolt to prevent springs(s)
from coming loose. Repeat for the other side.

Adjust counterbalance cables to create about 1” to 2” (25 mm to 50 mm) of spring stretch. Measure relaxed spring length for your door height and verify with the
Extension Spring Length Chart. Spring length must be the same for both springs to allow even door balance.

DWARNING

FAILURE TO CLOSE “S” HOOKS AND EY BOLTS CAN RESULT IN SEVERE INJURY OR DEATH, IN CASE SPRING COMES LOOSE.

Carefully remove the locking pliers from the horizontal track and lower the door into the closed position. Once the door is closed, measure the spring length in tension
for both sides. Using the chart, verify the spring length in tension is correct with your door height.

NOTE: It may be necessary to adjust spring length for proper door balance.

Permanently attach the vinyl weather stripping to both door jambs and the header. Now lift the door and check it’s balance. If the door is hard to pull down or lifts
by itself, adjust spring length by moving the “S” hook backward (towards the rear support) to a different hole in the reinforcing angle. If the door is difficult to lift or
too easy to pull down, adjust spring length by moving the “S” hook forward (towards the header) to a different hole in the reinforcing angle.

IMPORTANT! Whenever adjusting spring length for door balance, always open the door to the fully open position and return the locking pliers to the horizontal
tracks below the bottom rollers.

If the door still does not operate easily, lower the door into the closed position and recheck the following items:

1.) Check the door for level.

2.) Check the flagangles for level.

3.) Check the distance between the flagangles - must be door width plus 3-3/8” + 1/4” - 0” (86 mm +6 mm -0 mm).
4.) Check the counterbalance cables for equal tension - adjust by re-tieing the special knot.




IMPORTANT

LR SAFETY NOTICES

Wayne-Dalton Corp.
P.O. Box 67
Mt. Hope, Ohio 44660
Read these instructions carefully before attempting installation. If in question about any of the
procedures, do not perform the work. Instead, have a qualified door agency do the installation
or repairs.

1. Wear protective gloves during installation to avoid possible cuts from sharp metal edges.

2. It is always recommended to wear eye protection when using tools, otherwise serious eye injury
could result.

3. Avoid installing your new door on windy days. Door could fall during the installation and cause
damage and personal injury.

4. If the door is to be electrically operated at any time, all pull ropes MUST be removed to prevent
injury or death to children who may become entangled in the rope. The locking mechanism MUST
also be disengaged.

5. Operate door ONLY when properly adjusted and free of obstructions.

6. Should the door become hard to operate or completely inoperative, a qualified door agency should
correct the problem to prevent damage to the door or serious personal injury.

7.DO NOT PERMIT children to play with the garage door or the electrical controls. Fatal injury could
result, should the child become entrapped between the door and the floor.

8. To prevent serious injury or death, avoid standing in the open doorway or walking through the
doorway while the door is moving.

9. Door is constantly under EXTREME SPRING TENSION. To prevent possible serious injury or
death, adjustments, repairs, removal or installation, ESPECIALLY of SPRING ASSEMBLIES,
CABLES or BOTTOM CORNER BRACKETS, should be performed ONLY by qualified door
service people.

10. If your existing garage door opener does not have a reversing mechanism, you should consider
purchasing one that has up to date safety features. These features can prevent opener related property
damage or personal injury.

11. Check all bolted connections monthly during the lifetime of the door to prevent damage or personal
injury caused by loose connections.

12. Definition of key words used in this manual:

DWARNING! - ndicates a potentially hazardous situation which, if not avoided, could result
in serious injury or death.

IMPORTANT! -- Required step for safe and proper door operation.

NOTE: -- Information assuring proper installation of the door.
© Copyright 2009 Wayne-Dalton Corp.

MAINTENANCE AND PAINTING
INSTRUCTION FOR
PRE-PAINTED STEEL DOORS

MAINTENANCE
While factory-applied finishes for steel garage doors are so durable that they will last many years longer than ordinary paints, it
is desirable to clean them thoroughly on a routine basis. Apparent discoloration of the paint may occur when it has been exposed
in dirt-laden atmospheres for long periods of time. Slight chalking may also cause some change in appearance in areas of strong
sunlight. Agood cleaning will generally restore the appearance of these coatings and render repainting unnecessary. An occasional
light cleaning will also help maintain an aesthetically pleasing appearance. To maintain the original finish of the garage doors,
the only regular maintenance necessary is that of annual washing. Mild solutions of detergents or household ammonia will aid
in the removal of most dirt, and the following are recommended levels:
One cup of Tide™, or other common detergents, which contain less than 0.5% phosphate, dissolved into five gallons of warm
water. NOTE: The use of detergents containing greater than 0.5% phosphate is not recommended for use in general cleaning
of garage doors. CAUTION: NEVER MIX CLEANSERS OR DETERGENTS WITH BLEACH.

SURFACE PREPARATION FOR PAINTING

Wax on the surface must be removed or paint peeling/flaking will result. To remove this wax, it will be necessary to lightly
scuff the surface with a gray (not green!) 3M ScotchBrite pad saturated with soapy water. A final wipe and rinse should be done
with clean water only, to remove any loose dust or soap film.

Surface scratches, which have not exposed the metal substrate, can be lightly buffed or sanded with 0000 steel wool or No. 400
sand paper to create a smoother surface. Care must be taken to not expose the substrate under the paint (see Note No. 2). Once
this exposed condition exists, the likelihood for rusting is greatly increased. See the following paragraph if the metal substrate
is observed.

Exposed substrate must be treated to prevent rust from forming (see Note No. 2). Sand the exposed area lightly and paint with
high quality metal primer to protect from corrosion. Follow drying time on primer can label before applying topcoat.

The surface to be recoated must not be to smooth or the repaint material will not adhere to it (see Note No. 2). It is advisable to
test a representative area to evaluate adhesion. If poor adhesion is observed, the surface must be abraded by sanding or buffing
using grades mentioned above. Care must be taken to not expose the substrate under the paint.

PAINTING
After the surface has been properly prepared it must be allowed to dry thoroughly, then coated immediately with a premium
quality latex house paint. Follow the paint label directions explicitly. Oil base paint is not recommended. Please note that if
substrate is exposed, painting with latex paint may cause accelerated rusting of steel.

NOTES:

1. Repainting of finish painted steel doors cannot be warranted as this condition is totally beyond door manufacturer’s
control.

2. If the steel door surface has a finish painted textured surface representing wood grain, stucco, etc., this step should
not be attempted as danger of exposing substrate is greatly increased.

3. Consult a professional coatings contractor if in doubt about any of the above directions.

4. Follow directions explicitly on the paint and solvent container labels for proper applications of coatings and
disposal of containers. Pay particular attention to those directions involving acceptable conditions in which to paint.

ACRYLIC GLAZING CLEANING INSTRUCTIONS:

1. To clean acrylic glazing wash with plenty of nonabrasive soap or detergent and water. Use the bare hand to feel and
dislodge any caked dirt or mud. A soft, grit-free cloth, sponge or chamois may be used to wipe the surface. Do not use hard
or rough cloth that will scratch the acrylic glazing. Dry with a clean damp chamois.

2. Grease and oil may be removed with kerosene or a good grade of naphtha (No aromatic content.). Users of these sol-
vents should become familiar with their properties to handle them safely.

3. Do not use: Window cleaning fluids, scouring compounds, gritty cloths, leaded or ethyl gasolines, or solvents such as
alcohol, acetone, carbon tetrachloride, etc.

© Copyright 2009 Wayne-Dalton Corp.



Bottom cord — The bottom board of the truss that spans the width of the building.

Clear span- The term indicates that the trusses do not need supported by post and that
the building can be free of any walls or post for truss support

Eave side — The trusses sit on these walls, it is the side that gutter is nailed to.

F&J trim- When siding the building you need a J channel trim to receive the siding and
an F channel trim for the soffit, the siding company has designed and all in one trim for
this purpose called F&J trim.

Face Board- A board nailed to the tail of the truss running the length of the building to
support the end of the trusses and used to secure spouting to the building.

Fascia — The metal trim that covers the board running across the face of the truss tails
and where spouting is screwed to.

Gable end- The gable end of the building is viewed seeing the peak of the building and
the roof coming down both sides, other then the gable truss the rest of the trusses do not
sit on this wall.

Gambrel —Truss style that has 4 angles to it, two on each side. This style is used to give
attic area more head room.

Hurricane Ties- A metal bracket nailed to the top board of the building on the inside and
the truss to secure it from lifting up from high winds, the hurricane tie is required by most
building codes.

Jamb — The sides and head board of any opening, usually a term used for door openings.

Knee bracing- Bracing to tie the trusses to the post of the building to stabilize it the 2x’s
would be nailed to the side of the post and angled up and nailed to the truss.

Lateral Truss Bracing- The details of this are found in required install instructions
provided with all trusses, they are 2x4’s placed in a diagonal position in the framing of
the truss lengthwise of the building to brace the trusses from falling over during and after
constructions.

Perma Column — A concrete and metal form that is cemented into the ground and
extends up past the ground surface where your post are attached to which helps eliminate
the post from rotting.

Ridge Vent — In most applications you need to vent the roof area from heat build up and

the ridge vent is placed on top of the roof panels at the peak and covered by the ridge cap,
it allows air to pass through for venting.

H:\APM Buildings\Customer Correspondence\Glossary.doc



Roof Purlin- The purlins are 2x4’s spanning across the trusses, they are placed 2’ apart,
they help with the stability of the truss and are used to fasten the metal to the roof.

Skirt board — The bottom board of the building, the skirt board is treated lumber it ties
the post together at the bottom, it’s used to screw the rat guard on, and is the form for
your concrete floor.

Snow guard- A flat plate of metal or plastic screwed to the metal roof in an upright
position to keep snow from sliding of the roof in masses.

Top cord — The top board of the truss that you nail purlun or plywood to.

Translucent Panels — Siding panels that match the metal siding that are transparent for
light to pass through.

Truss Block- This blocking is a small piece of lumber nailed to the top of the truss
carrier board, two pieces are nailed the truss thickness apart so the truss can be set
between them and helps in the setting of the trusses.

Truss Carriers — The top board running parallel around the walls on the eave side of the
building where the trusses sit on.

Uplift — The wind forces to raise a building off of its foundation or trusses off the
sidewalls.

Wainscot — The siding is a two tone look when using wainscot, the bottom portion of the
building is one color of siding and the top is another using trim to divide the two colors.

Wall Girt — The wall girts are the 2x4’s running parallel around the walls of the building
2’ apart, they tie the post together and are the boards needed to fasten the metal to the
building.

Web — The cross pieces of lumber between the top cord and bottom cord of the truss to
brace and support the structure of the truss,

Y Bracing- Bracing used to stabilize the building by attaching a short 2x onto the post at

one end and angling it and attaching the other end of the 2x to the header of the building,
by doing this on both sides of the post it forma'yY.

H:\APM Buildings\Customer Correspondence\Glossary.doc



	Need to Know Pole Buildings Doc.pdf
	Need to Know Pole Buildings Doc.pdf
	PB sheets Old.pdf
	PB sheets Old.pdf
	PB sheets.pdf
	PB sheets.pdf
	Glossary.pdf

	Untitled.pdf







